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MT-03
June - Examination 2017
B.A./B.Sc. Pt. I Examination
Co-ordinate Geometry and Mathematical Programming
Paper - MT-03

Time : 3 Hours | [ Max. Marks :- 66

Note: The question paper is divided into three sections A, B and C. Write
answers as per the given instructions. Use of non-programmable
scientific calculator is allowed in this paper.
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Section - A 6X1=6
(Very Short Answer Questions)

Note: Section ‘A’ contain six (06) Very Short Answer Type Questions.
Examinees have to attempt all questions. Each question is of 01
mark and maximum word limit may be thirty words.

Qus - ‘31’
(fer o7y IR UL )
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1) (i) Define a sphere.
el I aRHIRT BT

(i1) Define a cylinder.
S Bl g SHifT

(i11) Define the ruled surface and its generating lines.

VST J83 U4 S X@T 1 aRHTT il

(iv) Write mathematical model of L.P.P.

WRaep NI FHRAT BT T Ty forRgu|

(v) Define Basic feasible solution of a L.P.P.

YR I FHRIT BT MR FAT gt IR B

(vi) Define convex set.

NG I DI IR BT

Section - B 4 X8=32
(Short Answer Questions)

Note: Section ‘B’ contain Eight (08) Short Answer Type Questions.
Examinees will have to answer any four (04) questions. Each
question is of 08 marks. Examinees have to delimit each answer
in maximum 200 words.

e - T
(oTg TR UeA)
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]
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Obtain the center and radius of the circle x* + y* + 22 — 2y — 4z =11,

x+2y+22=15
qd P+ 22— 2y —4dz=11, x+2y+22=15 B Ig g BT
ST ISR |

Prove that the polar plane at a point of the line % = yT—l = %
and the sphere x* + y> + z* =1, is pass through the line
2x+3 _ y—1 _-z

13 -3 1
Rig HIfm 5 ¥ar 2 =211 =213 & Rl Rimg R qer ey
4y 42 =1 % ANg UE gd dhae, Yan
2x+3 _ Yy~

l_—
3= o3 =1 STRWE
Find the equation of the enveloping cone of the sphere

x*+)? 4+ 27 + 2x — 2y = 2 whose vertex is (1, 1, 1).
el 24y +22+2x—2y =2 & I9 IATA! 4P BT FHDBRT
ST HifTe forgeet off (1, 1, 1) 21

If x> +)*+2z°=9,x—y+z=23 is the guiding curve of the right
circular cylinder, then find the equation of the cylinder.

IS TG S BT FIGed ah x>+ +22=9,x—y+z=3 8
al, S BT AHIHRUT ST BRI

Find the equations of the generating lines, which passes through the

. 4 X y2 z*
point (2, -1, §> on the hyperboloid e + 9 716 1
2 2 2
X Y z° _ 4
mﬁmmwrz+@ﬂﬁg—1%ﬁ@(;—uﬂﬁﬂﬁﬁwﬁ
P TR & FHIBROT ST HIR
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7)  Solve the following L.P.P. Graphically

Max (z) = 5x+3y

s.t. x+ty<o6
x =3,
y=23
2x+3y =3,
and x=20,y=20

Jergt fafer 3 Sard IR MU THRIT BT 8 ST DI

8) Solve the following L.P.P. Using simplex method.

Max(z) = —5x, +3x,

s.t. 2x, —x, <15
x, —3x,<5

and X, %, 20

IFd L.P.P. T I Rigeia~y fafer ¥ go1 s1a hifvied

9) Solve the following transportation problem, using vogel's method in

order to minimize total transportation cost.
71 transportation (JTARITT) FHRRAT BT AT I (cost) P
T o & o ‘arrer’ fafdr 9 g1 Hifstul

Destination | D1 | D2 | D3 | D4 | D5 | Availability
Origin
0O, 5 8 11 20
O, 2 5 8 5 40
0, 4 |10 10 30
Requirement 10 | 15 | 25| 30 | 10 90
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Section - C 2X14=28
(Long Answer Questions)

Note: Section ‘C’ contain 04 Long Answer Type Questions. Examinees
will have to answer any two (02) questions. Each question is of
14 marks. Examinees have to delimit each answer in maximum
500 words.

gug - ‘9’
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10) Solve the L.P.P.
Max (z) = 2x; +5x, + 7x;

s.t. 3x, + 2x, +4x; <100
X, T 4x, +2x, <100
x; +x, +3x; <100
and Xps Xy, X3 20

IFd MU T DT 8ol DTl

11) Write all the properties of poles and polar planes.

gd Td gdig FAdet & at e faRau)
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Find the principal planes and principal directions of the following
conicoid.
36x% + 4y + 27 — dyz — 12zx + 24xy + 4x + 16y — 262 =0
=1 ariehersT 1 7T Qe Ud H%ed |9Ad ST iy
36x7 +4y* + 22 — 4yz — 122x + 24xy + 4x + 16y — 26z = 0

Solve the following L.P.P. By using basic feasible solutions.
Max (z) = 2x, +3x, +4x;3 + 7x,4
s.t. 2x, +3x;, —x3t4x, =8
X, = 2% F6x;—Txy=—3
and x20,i=1,2,3,4

Sad WRgd TTH AT &1 & JMMUR GG gl &b H1edq d
ST BRI
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